

			Vendor Ranki	ng			Page 1 of 1
Letting:	01200917	September 17, 2020 11:00 AM	Call Order: 007		Contract:	E1T95	
District:	District 1		Counties: DIST	/ST-WIDE, LEE	Fed Aid No	: N/A	
Contract Time:	365 AVAILA	ABLE DAYS			Project(s):	4327291728	0 (*)
Contract Desc:	Longline Str	iping & Remove and Replace I	RPM's				
Rank		Vendor	Bid Type	e Bid Status		Total Bid	Percent Of Low Bid

1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$648,384.20	100.00%
2	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$747,901.20	115.35%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



09/17/2020

Tabulation of Bids

Page 1 of 3

Letting:	01200917	September 17, 2020	Call Order:	007	Contract:	E1T95
District:	District 1		Counties:	DIST/ST-WIDE, LEE	Fed Aid No:	N/A
Contract Time:	365 AVAILABL	E DAYS			Project(s):	43272917280 (*)

Contract Descr: Longline Striping & Remove and Replace RPM's

The work under this Contract consists of Longline Striping & Remove and Replace Reflective Pavement Markers.

Experience in Pavement Markings Form Required

**Experience in Paver	nent Markings F	orm Required						
Line No / Item ID Item Description	Alternate	Quantity Units	(1) MCSHEA CO LL		(2) OGL CONSTRUC			
() indicates item is bic	l as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0710 11101		340.000	580.72000	197,444.80	630.00000	214,200.00		
PAINTED PAVEMENT STANDARD, WHITE, S	/	GM						
0010 0710 11131		250.000	145.19000	36,297.50	215.00000	53,750.00		
PAINTED PAVEMENT STANDARD, WHITE, S SKIP, 6" WIDE	/	GM R 3-9						
0015 0710 11190		6,450.000	2.07000	13,351.50	3.00000	19,350.00		
PAINTED PAVEMENT STANDARD, WHITE, IS		SF						
0020 0710 11201		243.000	595.35000	144,670.05	625.00000	151,875.00		
PAINTED PAVEMENT STANDARD, YELLOW	,	GM						
0025 0710 11231		73.000	148.85000	10,866.05	195.00000	14,235.00		
PAINTED PAVEMENT STANDARD, YELLOW		GM						
0030 0710 11290		5,700.000	2.13000	12,141.00	3.00000	17,100.00		
PAINTED PAVEMENT STANDARD, YELLOW		SF E						
0035 0710 11331		239.000	139.70000	33,388.30	95.00000	22,705.00		
PAINTED PAVEMENT STANDARD,BLACK, S	,	GM						



09/17/2020

Tabulation of Bids

Page 2 of 3

Letting:	01200917	September 17,	2020 Ca	Il Order: 007		Contract:	E1T95	
Line No / Item Item Description		ate Quantity Units	(1) MCSHEA C		(2) OGL CONSTRUC			
() indicates item	is bid as Lump Sun	п	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0040 E706 1 4	2	80,090.000	2.50000	200,225.00	3.18000	254,686.20		
REFLECTIVE PAV MARKER(REMOV REPLACE)(CLASS	E AND	EA						
	ENT STRIPING MACHINE) (LM)	Section Totals:	'	\$648,384.20		\$747,901.20		

Contract Grand Totals:	\$648,384.20	\$747,901.20	
------------------------	--------------	--------------	--



			Tabulation of Bids			Page 3 of 3
Letting:	01200917	September 17, 2020	Call Order: 007	Contract:	E1T95	
		120.57(3), Floric	o file a protest within the time pre la Statutes, or failure to post the within the time allowed for filing a	bond or other security		

a waiver of proceedings under chapter 120, Florida Statutes.